
Itsrol

K

Lat B:s x-krurLtvletxi"\^ q, Dess g-krz*ArrAqt

L unlc.vr jat a,Lttt i 
$*ut^tr [*v,ktervtr\ A (r, t\

ht"r( a d o'

ntt B (o ,o' )

[-a trvl.vt

t*^tA

Lu\wLh qL\ kavr \r <kvrvrr ( k=- $b \
? ,,'rt 

\."^'rt \L )\Ytr.,L \ x.z_ & )

\'t cvt vL

L
a,

\utvt"Lvt$(K ska \arv4 5. \, fzir aLLtr; rk'uat"t&tcrr1-

=5
A--

qL-

a'-

q7-

\4

- \

q'1
ahB k=

a--4

\tt cb\

1

(

t=

1=

5a

5

L

I
L

5

5

5

+

t

q

r (,

ia

,\

J
3

L

3

cl,* t
5

=0

^=

Q:

L5

4

t

=1 a =t -\2

[+ 3

=\
nL

,

tw
Svar, (t, tb)

A L.,t,t\

4n=


